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Standord Form:

use tie formula __X =

2. Subosntute

—

A= _ 10 start

what you foupd in #1 into the

Juwnchon dofmd d . The X dnd Y __ ore the

ordered pair forthe __\ertew 7 .

3.find the rr&%ﬁ;&mr@%r e
Sipc i

Sllq
S nCiion |
Se&g i

5.find _4 point__ nexttothe ___4.0.5- _, then
Yo “pver gooSo to give you
another point.

3
Vertex Form: nr:Kv O xﬂ@n,pu + ke

@ find the _Vafex

is the ordered pair mode up o,ﬂ‘\.SJ_-T v

the Vot
[2]find the A of symmetry

remember that :.r;w n.&...gl.l-i._ﬂ@xmmm-:.\.:.fr@: W .
e vertex. , SO the equotion would be XHT
@ find A_point.__nexttotre __ A.0-S. , then

_Yelleok dover Hpe z.0-5.

find .M.wm ~ w&&ﬁ@]i:: r \mvdevcepsy
m@@ﬁ@&h@%ga _Solve ford ___inthe

function.

_ to give you another

Intercept Form: _\/ = mﬁx#uu%?&u

(2l fiod _intoreepts
they are the bgﬁhmﬁpﬁvfrmmqunvfx /A &v;iial
find the Kﬁ%xt .

find the _wniddle of the X-intercepts _ by
:W@@rlﬁrrr. Use that answer to Drﬁ Wi the function
and find the ka\kw%ﬂﬁshbn?@w%:{rh You hove found
the _yardew ! \MJ\]«\.I}‘\\I/_)
Bl fing the rPhwpmmlm M PEE i< toe aos!)

remember thaot the b].mfwrwm.,r TR g the
VA€, so the equation would be _X=

4 < L . This will be the ¥-\iudue of the

@ find bﬁ@iﬁpﬁia» nexttothe _A.0.8. :

rrrrr vev A0S . to give you

another point.

How to change standard form into vertex form.

How to change vertex form into standard form.




